KENWOOD

HI/FI STEREO COMPONENTS

SERVICE MANUAL

GE- 80/ PM- 80/ RA-80

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

geschrieben.

piom GE-80
DDDDDDD L '
- g PM-80
= = RA-80
GRAPHIC STEREO REVERBERATION

EQUALIZER/ POWER METER/ AMPLIFIER




- GE-80,PM-80,RA-80

GE-80 EXTERNAL & INTERNAL VIEWS

GE knob Front panel A*
(K27-0163-08) (A20-)

m e S TR
- wev

Push knob Push knob Foot

(K27-0162-08) (K27-0162-08) (J02-0110-08)
Phono jack Phono jack Slide switch* Bushing*
(E13-0428-08) (E13-0428-08) (S40-) (J42-)

AC outlet* Power cord*
(E03-) (E30-)

GE-80 REAR PANEL

—une— ~1aPE o
~ v aec

Ell ©)(©)(©
® 00 \©

Power transformer* PC board ass'y
(LO1-) (X11-1632-70)

IR AR A B RER R

2 GE-80 EXTERNAL & INTERNAL VIEWS

* Refer to Parts List.



GE-80,PM-60,AR-80

PM-80 EXTERNAL & INTERNAL VIEWS

Front panel C* Knob
(A20-) (K23-0350-08)

@ KENWODD

-y -ew
Knob Knob Foot
(K27-0162-08) (K27-0162-08) (J02-0110-08)
Speaker terminal Slide switch* Bushing*
(E20-0446-08) (S40-) (J42-)

Speaker terminal AC outlet* Power cord*
(E20-0447-08) (E03-) (E30-)

PM-80 REAR PANEL

..........

PYad e Cayy

l[OooooO| [gmm‘WDDDD
| 00oo

zzzzzzzzzz

| — —J
Power transformer* PC board ass'y PC board ass'y  PC board ass'y
(LO1-) (X13-2872-70) (X13-2872-70)  (X13-2872-70)

* Refer to Parts List.
PM-80 EXTERNAL & INTERNAL VIEWS 3



GE-60,PM-60,AR-60

RA-80 EXTERNAL & INTERNAL VIEWS

Front panel B* Knob
(A20-) (K23-0350-08)

Knob Foot

(K27-0162-08) (K27-0162-08) (J02-0110-08)
Phono jack Phono jack Slide switch* Bushing*
(E13-0428-08) (E13-0428-08) (S40-) (J42-)

AC outlet* Power cord*
(E03-) (E30-)

RA-80 REAR PANEL

aco-20v
7220 2407
Lledmr

—uoneo ~arE

UNSWITCHED
3oowmax

©)(©)(©@
9 \©\© ©

| e— ]
Power transformer* PC board ass'y PC board ass'y
(LO1-) (X14-1222-70) (X14-1222-70)

4 RA-80 EXTERNAL & INTERNAL VIEWS

* Refer to Parts List.



GE-80,PM-60,RA-80

DISASSEMBLY FOR REPAIR

GE-80, RA-80 PCB ASS’Y DETACHMENT

@ Remove the screws from the front panel.
@ Remove the screws from the phono jacks.
Subpanel @® Remove the screws from the case.

(1) Separate the subpanel ass'y from the case.

Note: Illustration is in case of the RA-80.
Front panel —=|

PM-80 PCB ASS'Y DETACHMENT

@ When replacing LEDs on the PC board,
remove the screws from the PC board.

@ When replacing LED's guide,
remove the screws from the subpanel.

Subpanel

DISASSEMBLY FOR REPAIR 5



GE-80,PM-80.RA-60

GE-80 EXPLODED VIEW

See Parts List on page 14.
A

A
M3x8
"X (Bi-Tap) BLK

-

M26x10(Br-Tap)BLK [ NB87-2610-45
M3x8 1 N30-3008-46
M3x8(Br-Tap) I NB7-3008-46
M3x8(Br-Tap)BLK . N87-3008-45
M3x6(Br-Tap)BLK  © N87-3006-45
M3x8(TP)BLK - N90-3008-45
M3x8(Bi—Tap)BLK : N89-3008-45

M3 x8 (Br-Tap)

M3x8

?‘W\? 102

o

_M26x10 )
( Br-Tap)BLK //

/@ M3x8(Br-Tap)BLK 5
HD /
[ { 0~ o)

M3x8
(Br—Tap) BLK

a

5

GE -80

6 GE-80 EXPLODED VIEW




GE-80,PM-80,AR-80

PM-80 EXPLODED VIEW

See Parts List on page 14.

M3x8 @,
{Bi-Tap)BLI

M3x8
(Br—Tap)

8
" (Bi-Tap)BLK

M3x10BLK IN30-3010-45

M3x8(TP) :N09-3008-46
M26x10( Br-Tap)BLK (N87-2610-45
M3x8(Br-Top)BLK  :N87-3008-45
M3x8(Br-Top) :NB7-3008-46
M3x8(Bi-Tap)BLK  (N89-3008-45

M3x8 N30 -3008-46

PM-80

PM-80 EXPLODED VIEW 7



GE-80,PM-80,RA-80

RA-80 EXPLODED VIEW

See Parts List on page 15.

5

M3 x8
{Bi—Top} BLK

M3x8(Br-Tap)

S M3x8
\‘\\{ Br-Top)BLK
\\\

~

~ =

oz

8 M3x6(Br-Tap)BLK . N87-3006-45 //’ -
M26x10(Br-Tap)  : N87-2010—46
M3x8 I N30-3008-46 ho

M3x8(Br-Tap) . N87—-3008-46 =z

M3x8(Br-Tap)BLK : N87—-3008-45 I
M3x8(TP)BLK  : N90-3008-45 -
M3x8(Bi-Top)BLK : N89-3008-45 5

RA-80

8 RA-80 EXPLODED VIEW



GE-60,PM-80,RA-60

PM-80 ADJUSTMENT/REGLAGES/ ABGLEICH

ety

i

L

! Y

i

,,{

}

@ KENWOOD

STEREO POWER MONITOR MODEL PM-80

WITH MULTI SPEAKERS CONNECTOR

[ —

METER RANGE

I on 0.01~1W

PM-80 REAR PANEL

FROM AMPLIFIER
RH- -—r—t—+

>

mR[Nn

J

TO SPEAKERS
[ +—R— - -— i+ +—R - _—L—+

UNSWITCHED
c 0OWMAX

{ |

AC 110- __ AC220-
120V~ 240V~

|

AC 110-120V~
/220-240V~

()
=)

AC voltmeter

Power 80
Dummy
amp load 2.82V
AG (1kHz)

TEST INSTRUMENTS

Power amp
Audio generator
AC voltmeter
Dummy load

................ Ampli

POWER METER LEVEL ADJUSTMENT

1. Connect an AG (via a power amp) and a dummy load

to “FROM AMPLIFIER” and “TO SPEAKERS"

terminals respectively.

. Connect an AC voltmeter across the dummy load.

. Set the AG to TkHz and its output for a 2.82V reading
of the AC voltmeter.

. Adjust the trimming pot. VR1 (VR21) for 1W reading

of the power meter.

REGLAGE DU LED METRE

1. Relier un AG (par un ampli) sur les prises "FROM

AMPLIFIER" et une fausse charge (resistance) sur les

bornes de “TO SPEAKERS".

. Relier un voltmétre de C.A. aux deux extrémités de la
resistance (ou aux borne de sortie + et —).

. Régler le potentiométre ajustable VR1 (VR21) en sorte
que le LED's métre indique 1W lorsque le voltmetre in-

dique 2.82V/8%.

APPAREILLAGE

Générateur audio fréquences
Voltmeétre CA

PRUFINSTRUMENTE

Leistungsverstarker
NF-Signalgenerator
Wechselspannungsmesser
Belastungsnachbildung

ABGLEICH DER LEISTUNGSMESSER
(POWER METER)

1. Einen AG (via eine Leistungsverstarker) an die ""FROM
AMPLIFIER" und eine Belastungsnachbildung (8£2,

10W oder mehr) an die “TO SPEAKERS" anschlieRen.

2. Einen Wechselspannungsmesser iber die Belastungs-
nachbildung anschlieRen.

3. Den AG auf 1kHz einstellen.

4. Die Lautstarkeregler (und/order den AG-Ausgang) so
einstellen, dal® die Wechselspannungsmesser-Ablesung
2,82V ist.

5. Das Trimm-Potentiometer VR1 (VR21) so einstellen,

dald die Leistungsmesser-Ablesung TW ist.



&
=T
a=
—]
o
-
o Y
=]
ket
(]

[—]
[]
| — =
[— —
(o)
[—]
(——]
-
[—
L)
[—]
]
Rl
(X1

GE-80 PC BOARD

W PC BOARD ASS’Y (X11-1632-70) Foil side view

No»
SN O
. &
fa) o 2R
QS < 131100 ov
g n_.w = Y|m T.
= o [¥s) =
2 w = NN j.?
= 88 <
© < = < < BM M
£ 3 ! el
— - = = o> |<
gda Bos 3Rl (3
o| 272 3 ||z
m m
Q
— ERC]
zn8
€n18 x E
| 18 v 8
| “ Z0d m_m Ird " m IS “ HOO!  bed
Nt o038 ||| Lno N )= T
2 3 1 ¥ 1 ¥ 7 ¥ 1 » i T —
ub Lun Blis 8 SloMa s &1y B mETHE RE L oo ssiCaumm
ASE Q001 A9l 000 S s T g e e e _ || B ez _
96 avd 8] Swal Tt g TR og s 1 xzm%_m/L.x;J_ S n_u ] 2 |_ s nwu WMmN e |2 b
= vy €y T 26 Ig_Ov 6F it bE (g ‘ee = 2
T N - A e f' /f\ joof] k€ = o |} &8 amﬂ/ul_ ZG3y _ RS
I Mm% oss wu o AD 100 100 Xoge ey Lo s 100, €19 e e T TS 1 N >
wo! vvo M 71 bEd 19 L e T T T gpenme e ”\.\.lllluﬂ i | o R@.Lw
AOEE  6eY o o
+ TP Th L T —— . —l_..ll — —q. g
Ty e 3 - >Mﬁomm= IIIIII g1017€9 s/ ok i £8 _ _ snie ,/«n .
Asg_ ool 7 y %001 G B 5 o . o e | 2\ o W W B
o e ~ T ek N5 o &
. i AZ) 70 Y % il 9 R % Ao ¥ | o3y
:M_ 4 Y 57 3@ 2 Sige 11w ».W% (=] W Sm_ _._,u 3 G LBy O ﬁk ri “ “ _,./ S| “wazivnoa !
095 zbY S| KELN oot o , A no g
e e 3 N o i fwml | © o s8 z |2 |3 L | ome 7 hee
—W— o 2 |lmigo SR W gl oo a a —
Agse~ ASSe IO NE'E 214 @ = 13 ]|° O Nz zTioF & R G G— s e
fosl ' M5 @ i = ._u‘ = ]z |8 | E;\lh/xzm
AOG 89" (TR Qn_uw = s 8. 9e
fies) TS Wi T [ ] _ RE)
&7 xwmn | 2R o iy ) | <4 _me\b//v_zu
ololofle - L 2108 Tl s/ By
e e & "||_w_ 8 8 E _ ". :
\ N g p— :
i \E A g “ k4 o e T @ | _ £S5, 43Z17vN03
e / s oga . P :
\ %.wm.% She Loz _oMn_vMu 218 |=% e Wl @..m.m eg ez _ _ 7
: g ——
o/mzv oF1 _/mm_/ _|l”_~ i , 1_|m TR m v:._‘.:wmm —|z _
otued & v_,zu_x%nm " | e ben ./x._ﬂonx A6 & A ol6 ' bed 9% _ _
NP S e AR A = el e
LdE _ 22 aurmyee d%m..m_ () R | (B L © 4 A3
5 _ @ Ae'e ey b § = g g B & T3 Mo | v.,".( _ _
e I = ) e ] o "
=& | ® 0 N nIHI..Ir/MD 5 n R | | JOLINOW
— _ll %022 €gM A00! _GEY Ael— AZl— T T _ 3dvi
W W= oa il
N e e T e AL TR L e S TS L |
113A (o]} S1.91 02 12 92 'y
- 3 : ,,ﬂl||u11IJL1¢|IJ . = -
“« g S50 180 TLIER Ty bW U0 O O IO AR SR SR )
ZHog zHOOZ 24008 ZH)Z'E TR T - Z
001 [~ 71 300! ﬁ.._ sool 7.1 %001 ™ zWyel Mool [T T | zHog ¥ool ([T I_Nxoouvao. L Nxm.u%%_ Teill Nzumom R Na%“ ot
18A I _ Nz>_ - cun| | vHA-| nz>_ I ] oA ,, LA | s | sun || ol |
= _ = = = = = 1| =] =)
ool @l gl el ©
prec peed o = o e | beefend Allofcec] Loed
nd | _ 2d | [ d [ vd I _ gd ] 91d | [ |- | e - 67d _ G _ 1Nd
w 8 6
t P || L =iy REA ot j = = =
L L o s e BT oy L e L1 L

9

PM-80 ADJUSTMENT/GE-80 PC BOARD



BE-80.PH-60.3A-60 BE-S0.PM-B0RAE0 |

PM-80 PC BOARD

V¥ PC BOARD ASS'Y (X13-2872-70) Foil side view

& & > =« &
00 20 20 +Q ~O
AOGLV, B B

220, /AN 5N$'z
8| RO O T
Q) ¥ _v—

BRN

>
o
©
o
e

VIO BLU YEL RED 2!

A

BLK WH
(7]
o
W
x|
=4
Ll

g a

. (2]
Si

012 01300 O1EON OO O17 O’ O 0200

ORG WHT BLU VIO BLKr

‘6 12d
] 300%,,){5@“
> BUS el aolvnuzgv

X sz 2SC2665(Y)

+
A9l 0Lt 960

T N N
q3A A1 001 '§S

/240V~

2]
120V~

DHizg 2
= 137100 ov

:
© o :
SR vy ASZ Ot 48D

b
Lp0° €80

Ae'Z sy

15.4v
n
g
)

!

SELECTOR

w
2
5
o
>

1sa

A
RED (M.EU.X.H TYPE)

|

2sq

1p0° 289

= =

T'm g
| & [EFR0d]
e

Ktoq a3y =
‘\\\ 90" 160

2
IA
RED
02

R
68K
.
b 4
P |
o
3
1
BLK
(3

10
2
68K
#
a'g
n
fa ]

74
?
RED
(@]l

34

B Q1 . TA7318P-1
\ﬁf‘ﬂ A Q2,21  : UAA-180
Syduh Q51 . 2SC2655 (Y)

18 i?) D13 © HZ7A-
6

D51, 562 : 1SR35-100 (100V, 1A)
D53 : HZ16-1

10 PM-80 PC BOARD/RA-80 PC BOARD



o o o ©
¥ig @3 134 me
“ - 201 SOl b St
9 =
) <5 5 d z 11d e Sd
o @)
= b i % T ——
Ava_ON_ H1d3a | _lmmm>mml- - — s e e s (e
| | e — £13A l
mm>r i yr (@G THA *
NS e i @ A0S | 30| gz RN 9010
+ 090 7 b N
P rcs # 2 | 2 B ST oNd o R a3y
[F W N o aion %01 2y 3 e
29> a ~ . | me S = e
ZHLno 3 » e Ny i 4 o L2 Lo
ST —d B = ol : Q@b 3 =3
DO MmO — 2 21 > AQ) @ < 5
=L —N el T O © so1 O
L<CO00 = - s R ¥ a3y
nnnnon 2 ro¥u B | ] = .
aNNNNN p=4 ° = B,
A0 RN 010
2+ 5 1 5=, A9l Ov X8
m N me. 2 |3 uum_c |_A|J 6012 -
§ 3 N ~ o 201
=g ¢ 5 T ng 42 i we [
T\ ol 3T lg &
| S 2
AGI | 3
EF - .= |
3-~00% ¢ & °
a g2z zz & g
—Lww O
e} I —
(= = ©O- =N TI5 e
0 . 3 W
= SR2RLOIEIPRo00n® 3 g Co
=) 23338%3aNn2Y 6N
ea ZANNANNONNT—«—«—«—T
o W " o
= < ™~ = =
B > © O @ g
® < © o o< ke b
3 - ==2 < < L2 H
= o P SR > S — 0 =
== ! Ll NOONOO—® o o
) -_— - O ™ ™ = = — — < < -
= 53 000000000 oo ¥ i,
== s ol 8 119 1007 AWM N8 NG MM 8 NG 2 LHM XT8 ANd LHA %18 YN s
= -y T O NP 2N\ gz £ ] T e 83
[=) Sol ZEE g f ; ‘PII_ : 4\ ¥ 2
E AL R S, B 919 %9198 918 §
3dAL HXNE ; . ,
n A% . 890'299 ged | Nlicg }m..mv_ _ome?. _><|_&
N - ¥010313S L ——
o o 39v.170A zn8 | | _
< ° T
- =
< 5 i
W-\ Bbw/ww\_ m m) = o [ 1m AY
< oy PN e n_ ™ N S 2\
¥ ey S 9z
7] LTl _n o et WS B ET s AN
7] wa |2 1S R o3 A me 2 2=z
< vz F T = 1 . B2
= ! [ J 1" _w_,l,.,m I .m o 2B ..“ amig
= _ 3 Ll 82 & 2 RIg A2
< N Iigf » =< I = 112
(@) SINd _M — W £ _
&a | | 1z = wose eza | _w
|ogge I og | | gg | =gl
2 s gt A sy

=
=
[ — =
=
=
=
=
e
=
B
Ll
(-]




GRAPHIC EQUALIZER

P KENWOOD

A P R c EREwEe e

R14 100K 10 50Hz 200Hz 800Hz 13KHz
0% MWy O
zo X X 0¥ nX
(28 = S 2 8 S =8 = 3
| \Si> 4| . =} E" B3] E“ g8 E‘ go
| | 12 d J)m g 15 d 7
o
33 T
—IN T — : : s ov 3 5
sl 9 RI2 |c2 2.2 2 0 -4
iR 4 QU1 S L N B @3 825
N | Iy YT '
=3
37 “ | | ’ 4-|zv §
2 ouT T | | Cil_820P =
| | é | | -
L [ o9 HE W
Bl RII 33K
| | =
=1
REC &8 | |
L__I,_A_’ ! |
| S2 ' |
L pLaY — ' :
o |8.L 0%l | ]|
w| 1522 &m | ] |
@ 'qI m 5 |
C. k=
I alf |
5 E
3 2 lg | -t 50Hz 200Hz 800Hz 13KHz
3| 2 | | o—
2
e ! I x % %
e 2 e EO = . 25
NG ¢ > ;ij)ga rl*l%e [$)E8
24 g 7 23
. iﬁ : | {5y &) 20
— IN ———79 [ . »
o o R32 c32 L
L | Q6 N7 %3 r
sl:z ! | {2~ 1 S
36 ! :
ouT i c31 820P 2
R I
| R3I 3,3K
4 |
REC | 89
~ Ll 3
S2 —©O
— PLAY
Ra3 33 | 12V 12v -
6 25.5V
g ) Di (MEUXH TYPE)
K3 5 R41'"‘?so b K
3 PLI PR g
% A
=4 T
5 § 8l 3]
>
@ 2 Ql
PL4 |PL2 J[. e LB b .
< o <
[2) o ug " (=]
2 8 ST
A
Wy
PL5  [PL3 R4z 860 {_25 - D4
Q1 Qs Qi Q4 Q4 Qs
Di~4a
VR1,6 VR2,7 VR3,8 VR5 ,10

S1 . POWER
ON < OFF

S2 . TAPE MONITOR
TAPE < SOURCE

S3 | EQUALIZER
ON = OFF

S4 . EQUALIZER REC
ON <— OFF

S5 . ATTENUATOR
—-6dB <— OFF

Sé . VOLTAGE SELECTOR
240V ==120V

Qi~6 . NJM4558DX
Di~4 [ISR35-100

GE-80(E)

SPECIFICATIONS

Equalizer characteristic
.. +10dB (L & R independently adjustable)
50Hz, 200Hz, B0OHz, 3.2kHz, 13kHz
—6dB at 1kHz
...10Hz—60kHz +0dB, —1dB
.. Less than 0.006% (20 Hz—20kHz, all controls flat,
output 1V)
..5V (1kHz, THD 0.01%, PL 47 kohms)
110dB (Short-circuited IHF-A network)
47kohms

Variable range

Center frequencies .
Attenuation ........
Fraquency response .
Harmonic distortion ...

Maximum output.. . . .
SiNratio ........
Inputimpedance . .

Power consumption .
440(W) x 74(H) x 160(D)mm
..2.7kg (net), 3.1kg (gross)

Dimensions.....
Waight

Kenwood follows a policy of in For this
reason specifications may be changed without notice.

Kenwood strebt standige n der an  Daher bleiben
Anderungen der technischen Daten jederzeit vorbehalten

DC voltages are measured by a VOM with 20 k/V input impedance.

Kenwood poursuit une politique de progrés constants en ce qui concerne le
développement  Pour cette raison. les spécifications sont sujettes a modifications
sans préavis

NJM4558DX

GE-80 SCHEMATIC DIAGRAM 11



PKENWOOD'

E
|
|
|
|

STEREO POWER METER

A EE e c Ry e TR e G
13
(L) Si-1
DI D2 D3 D4 D5 De D7 Ds Do Dio DIl Di2
Ay Ay Ar Ar At At A Aq At At AA Ay
SPEAKERS(L) t—° ~ 1, f{>f«1{>|~r>|«»|>k N -~
A O—O— o<—o¢§ i W 0¥
20 «
B 0—O o) o | S2-1
2 " ' :
g s . :
15 —0 -”{ 2 R7 1.8 22.5V
COM i | RZA_I‘.ZK R4.'?.'IK - 8 'I.' K - Q5|
N RS 470K BI 2 ﬂ/l
L—O 7 - m 0
GND I ! | _z.2v % o HOEOF . N
'S Bl @ 15.4v | 8 5
Si-2 } =] | © AN Fo me ©% . av e
4 2 2 £ 8 @ o eF oF = m— §zz =
I : : T SZL 3 o Sz B2k ;',yf B
] 4 =N S 8 I—T’Edg :@):@): gl el |,
| | :=§ R|:<l EZZ a
I U : an | 2
1
(R) S1-3 | | 58
I " I Dz)I( D22D23 D24 ng D26 057 D)z(e Dzﬂs} D}g [3’3| D/sz
4 AX A4 AA 4 At AA AL o AA
SPEAKERS(R) $—0 |
18 /”/l R21 9.1K | { PD'_
A O—O -O=—0=0O—¢— i . S3-1 A
7 10 |
B 0—0 ‘o) 0 | S2-2 | J
c o CIG l RED
é) 8.2V
— el | o
— R24 9.1K ™ » 4 QI 2/_ R27“L.BK
4 GND o R22 I.2K R25 470K 9 + 5 (MEUXH TYPE)
? ] 7 82y = %
Si-4 o 2o =, B2 S
g sz o 87
o| 8 |: =
o (3] =- |z w
© I3 M R30
> 1K
6
b BLK
(e]] . TA7318P-1 D13 HZ7A-1
5 Q2,21 . UAA-180
Q51 . 25€2655
Di~4,21~24  LED (YEL)
D5~12,25~32 : LED (RED)
D51,52 : ISR35-100
D53 . HZI16—-1
Q1 Q2,21 Qs
Di~a D21~ 24 D5~8 D25~28 D9~12  D29~32 D51,52 D53
VR, 21
6

PM-80(E)

SPECIFICATIONS

Power meter indication range. ... 0.001 — 10W (x0.1)
0.01—100W (x 1)

Power meter accuracy ........... +£1dB (x0.1)
+£1dB(x1)

Frequency response ............. 20Hz—20kHz, = 1d8B

Response time . .. . 7msec. (1kHz)
Speaker switch ................. Selects any of 3 sets of speaker systems,
A.B, Cplus A+Band A+C

13W

- 440(W) x 74(H) x 160(D) mm

-2.7kg (net), 3.1kg (gross)

12

PM-80 SCHEMATIC DIAGRAM

DC voltages are measured by a VOM with 20 k§2/V input impedance.

Kenwood follows a policy of n For this

reason specifications may be changed without notice

in der
Daten jederzeit

Kenwood strebt standige
Anderungen der

g an  Daher bleiben

Kenwood poursuit une politique de progrés constants en ce qui conceme le
développement Pour cette raison. les o sont sujettes a
sans préavis

2SC2655(Y)

TA7318P-1 UAA-180

10




@KENWDOD® REVERBERATION AMPLIFIER

C R R E G e o G

A-80

A

~IN S . = Reverboration time
ggT . o s R ~E Effect 1.. 0-2.5sec.
el =, x IS H Effect 2... 30-80msec.
T L o S3 o— Sl =a3 RIBEEK | 18V L Frequency response . 15Hz—60kHz, +0dB, — 1dB
ouT — £ Q2 v QI3 * Harmonic distortion . ... Less than 0.008% (20 Hz— 20kHz, output 1V)
x ® S6 < S/N ratio .. 10048 (Short-circuited IHF-A network)
3 v 15V | gg‘? Input impedance 47 kohms
L 'é 28 |2 +"‘3i L - Attenuation —6dB at 1kHz
P - Sity ol 62 2] 1% . Power comsumption. L2w
REC 2 LN ey a © o3 23 Dimensions 440(W) x 74(H) x 160(D) mm
2 @ ; s =8l & & & ok Weight..... 2.7kg (net), 3.1kg (gross)
5
QI~3 . NJM4558DX
~PLAY g% 7.6V Q7 6.3V Qs xl oo Q4,5 . 2SAI1015(GR)
- " .50 £ _ v B2E S50, 5.5 Q6~I1  : 25C536(F)
3 3 2 == :
S Gasih A5 1 57 58 100K 2 Q2 : 2SAI1015(GR) Kenwood follows a policy of i i For this
v/ QI | 10K LN« s7v . | a7k, Q1 Q . 28
/2 Zon B ov| 7.2v | oV 7.5v 4.2V 13,14 . C1815(GR) reason specifications may be changed without notice
2 cal °7 14713 2 1109 8 3 _ z _4-?45917‘1 <|\zv | Qe s R67 Q15,16 = 25C2655(Y) Kenwood strebt standige n der an  Daher bleiben
[15V 4708 = 2L 8 3 Bl 2L asv| 154 47K Q17,18 ! CX-766 Anderungen der technischen Daten jederzeit vorbehalten
| Q17 BBD 57 g g ;:E ; i N Qo . 2sc2l120(Y) Kenwood poursuit une politique d é tant [
: ursuit une politique de progrés constants en ce qui concerne le
= i 3 E.—ﬂ \ 2 3 4. 5 6 7 "-" 2 ¢ .47 sov Qo2 1 2SA950(Y) développement  Pour cette raison. les spécifications sont sujettes a ‘modifications
js"g B2K . + a 3 < 3 st ! Dal,a2 tHZ3A-| sans préavis
- . | g N . . D43,44 . 1S188(AM)or IN60 or IK60O
3 - 8 2| 8§ Dioi~104 :ISR35-100
14v = e e .
TN~ 3es b © T Dlos~107 . HZ16—I
YA 3 g & L
| E & Rst 5.8v o N &
F3 S 4V -, = ol
ol JFIF R Fe ) Qs g = 3 =
e | x| o @ P @ =]
S5 | 5w % 3 & El &
3% 283 | lov © & >Q
8 L%
:z) b g . R8I 120K  cg|
E & >z
x ="
=3 RB2 120K €62
T W {
g
rIN 26
S4 al i 27
Bl | = © £4ss | #7 =i @3 -
oo sNd8 oV cos
a _ © S3 o ov Q2 AW
ou T 172
x 5 o = S6 M 7 2sv
2l & = 10k c23 150P
R 23 o —— 5
: = o3
REC St R26 10K &
2SA950(Y)
83 2SA1015(GR)
“PLAY s 15.5v 2SC536(F)
& oV ? 2SC1815(GR)
o :l'
W:n‘”K - N 5 104 C101 047 lo1 RED RED 2SC2120(Y) 2SC2655
3 2t les (ME.UXH TYPE)
g ° ]
RB5 120K g Ezz e |z S
3 H ;Zg 5
=
K :
S 3 B
= t c €
SI : POWER ON==OFF . T & |2 2 £ L
S2 . TAPE MONITOR TAPE~-SOURCE | 2 of & : .
S3 . REVERBERATION ON=—=OFF EE o3 S48 P
213
S4 . REV. RECORDING ON—=—=0OFF = —15.6V G =
S5 . EFFECT 2==| o}
S6 . ATTENUATOR -6dB~~0FF [,;5\, Qioz X Dioa 19% ci02..0a7 NJM4558DX
S7 . VOLTAGE SELECTOR 220V=+I20V -27v
[ : (]} Q4 Qi7 Qs Q7 Qs Qs Qi2Qs Q1,2 QI3 Qs Qia Q2 Qio,ll_ Q15,16 Q3 Qio1, 102 Q3 |
[ D4l a2 D43,44 Dio7 D10s, 106 Dioi~ 104 |
[ VR1 VR2 ] RA-80(E)
6

DC voltages are measured by a VOM with 20 k§2/V input impedance.
RA-80 SCHEMATIC DIAGRAM 13



GE-80,PM-80,RA-80 GE-80,PM-80,RA-80

PARTS LIST
GE'SO PARTS LIST 7t : New parts

Nots: Ref. No. Parts No. Description mF;‘:I-(s
Component and circuitry are subject to modification to insure best opera-
tion under differing local conditions. This manual is based on,’the Europe TOTAL (G E'SO)
(E) standard, and provides infor-matlion on regimi\al circuit modific?tion 1 1A A01-0386-08 |Cabinet
through use of. aIAternate schematic dlagram's, and information on regional 2 2A A20-1685-08 | Front panel A E
component variations through use of parts list. 5 2B A20-1690-08 | Front panel A K.M,U X H N
Reglon Coda 2 2B A20-1691-08 [Front panel A T| »
e i e o b S SR s D R U K
e s e e s P 3 2A B07-0342-08 |Knob guide x5 w
Bx(EariEatn. - il il e R u 4 2A B11-0010-08 |Filter A *
PXEUTOREIE S sl et e s St i UE — B50-3165-00 |Instruction manual UE,K,UMH X| *
TN e e e B e X — B50-3166-00 |Instruction manual T| *
Edvone - meiin o8 el e OB i E — B50-3167-00 [Instruction manual (French) EMX| =%
Englandil i Sl SE R R B L T — B50-3168-00 |Instruction manual (Germany) E| «
SOt ANhey DR S s e i s — B50-3169-00 |Instruction manual (Dutch) E| =»
Other Afoasi s e B0 e s i M - B50-3170-00 |Instruction manual (Swedish) E| =
Audio:Club i heriaranin i e NG R el Gt H
5 3B E03-0029-08 |AC outlet E| «
There is no plan for producing units of P and S types. 5 3B E03-0032-08 |AC outlet K v
5 3B E03-0033-08 |AC outlet M,UH| *
- E30-0652-08 |Audio cord e
6 2B E30-0651-08 |Power cord E| =»
6 2B E30-0658-08 |Power cord MUH| «
’ 6 2B E30-0659-08 |Power cord K| «
6 2B E30-0660-08 |Power cord T =
6 2B E30-0661-08 |Power cord X| =
*  Abbreviations of capacitors (Parts No. with iniual letter “C™) = HO01-3183-08 |Carton case E| =
ELECTRO .Electrolytic capacitor — H01-3200-08 |Carton case KMUXH| =
LL-ELEC Low leak electrolytic capacitor
NP-ELEC . Non-pole electrolytic capacitor - H10-1554-08 | Packing L %
MICA Mica capacitor - H10-1555-08 | Packing R b
POLYSTY Polystyrene capacitor _ H20-0461-08 | Protection bag %
MYLAR Mylar capacitor
ceae e 738 |102011008 |Foota :
MF Metallized film capacitor & 28 da2:puigesae. | Blishing ET| =
oIL v T — 8 3B J42-0089-08 |Bushing UMH| »
The unit "UF” i1s used in heu of "uF” 8 3B J42-0090-08 |Bushing K| =
8 3B J42-0091-08 |Bushing X| =
* Abbreviations.of resistors (Parts No with imitial letters "R™)
ne o e 9 2A | K27-0162-08|Push knob x5 %
FL-PROOF RD Flame-proof carbon film resistor 10 2A K27-0163-08 | GE knob x10 *
RW . Wire wound power resistor
FL-PROOF RS ... . Flame-proof metal oxide film resistor 11 3A L01-2124-08 | Power transformer K| =
RN Metal film resistor 11 3A L01-2126-08 |Power transformer METUXH| «
2B . . Rated wattage 1/8W
2E Rated wattage 1/4W 12 3A S40-1026-08 |Slide switch M,E,U X H
2H Rated wattage 1/2W
3A Rated wattage W 13 1B X11-1632-70|PC board ass'y %
3D Rated wattage 2W
3F S—— Rated wattage 3w
3G S—— Rated wattage 4w
3H R Rated wattage 5W
All resistor values are indicated with the unit () omisted
* Abbreviations common to capacitors and resistors PCB ASS'Y (X1 11 632-70)
C +0.25pF (Used for capacitors only)
D tOBpE (Used for cagacnors only) 101 28 B30-0245-08| Lamp (0.05A) ﬁ
F . e +1%
G L 42% c1,21 C46-1747-35|Mylar 0.047uF K
J.. L +5% C2,22 C26-1733-57 | NP-Electrolytic ~ 3.3uF 50Wv
Koo .. 210% C3,23 C46-1715-35| Mylar 0.015uF K
M +20% C4,24 C26-1768-47 | NP-Electrolytic  0.68uF 50WV
2o + 80%. — 20% (Used for capacitors only) Ch, 25 C46-1733-25|Mylar 0.0033uF K
P ... +4+100% —0%(Used forcapacitors only) C6, 26 C46-1715-46 | Mylar 0.15uF K
Resistors RD (carbon composition resistors) are not listed in the parts c7,27 C46-1710-26 | Mylar 0.001uF K
hist. For values, refer to the schematic diagram. c8, 28 C46-1747-35|Mylar 0.047uF K

14 PARTSLIST



GE-60,PM-80,RA-60

PARTS LIST

Ref. No. Parts No. Description mF;E:;(S Ref. No. Parts No. Description mF;(:I;s
Cc9, 29 C47-1722-15| Polystyrene 220pF J — HO01-3184-08 | Carton case E o
C10,30 | C46-1710-26| Mylar 0.001uF K - H01-3204-08 | Carton case KMUXH | =
c11, 31 C52-1710-26| Ceramic 0.001uF K
C12,32 |C26-1722-57| NP-Electrolytic = 2.2uF 50WV = H10-1554-08 | Packing L
C13,33 |C26-1447-57| NP-Electrolytic ~ 4.7uF 25WV = H10-1555-08 | Packing R
C14,15 | C52-1710-26| Ceramic 0.001uF K - H20-0461-08 | Protection bag
C34, 35 C52-1710-26| Ceramic 0.001uF K
C41,42 C53-1747-37 | Ceramic 0.047uF M 11 3B J02-0110-08 | Foot x4
C43,44 C55-1747-38| Ceramic 0.047uF Z 12 2B J42-0088-08 | Bushing ET
C45, 46 C24-6510-71 | Electrolytic 100uF 35WV 12 2B J42-0089-08 | Bushing UM, H
C47,48 C24-1210-81 | Electrolytic 1000uF 16WV 12 2B J42-0090-08 | Bushing K

12 2B J42-0091-08 | Bushing X

102 1B E13-0428-08| Phono jack (4P) x2 b

13 2A K23-0350-08| Knob (rotary)

R41,42 | R40-8356-15| FL-proof RC 5608 J2H 14 2A  |K27-0162-08| Knob (push) x2
R43 R47-5533-05| FL-proof RS 339 J 3D
R44 R47-5424-05| FL-proof RS 240 J 3A 15 3A L01-2124-08 | Power transformer K
VR1~10 | R13-5025-08| Slide pot 100k (B)Fig. 103| = 15 3A L01-2126-08 | Power transformer M,E, T,UX,H
S1 S40-4014-08 | Pushbutton switch (POWER) Fig. 104 16 3A S40-1026-08 | Slide switch M,E,U,X,H Y
S2~5 S42-4014-08 | 4 keys pushbutton switch Fig. 105 «

. 17 1B X13-2872-70| PC board ass'y ¥
Q1~6 V30-1020-26| IC NJM4558DX
D1~4 V11-5101-560| Diode 1SR35-100 ¥
PCB ASS'Y (X13-2872-70)
101 1B, 2B| B30-0244-08 | Lamp (0.1A)
PM_SO PARTS LIST D1~4 B30-0247-08 | LED PY5531K (YEL)
Fo | |pacrs | 30024608 | LED PeBa1K (NED)
WA, || Fars Aa. Description marks | |D25~32 | B30-0246-08 | LED PR5531K (RED)
TOTAL (PM-80)
€1 C24-1447-51 | Electrolytic 4.7uF 25Wv

1 1A A01-0386-08| Cabinet c2 C46-1756-24 | Mylar 0.0056uF G
2 2A A20-1684-08| Front panel C E| «» c3 C24-1410-71 | Electrolytic 100uF 25WV
2 2A A20-1694-08| Front panel C KMUXH| C21 C24-1447-51 | Electrolytic 4.7uF 25WV
2 2A A20-1695-08| Front panel C T = Cc22 C24-1447-41 | Electrolytic 0.47uF 25WV
3 2A  |B07-0342-08 | Knob guide x2 gg? 52 GagH 7624 | Mvlar OOgshur G
4 2A B11-0009-08 | Filter B " 7 C53-1747-37 Ceram!c 0.047uF M
— B50-3165-00 | Instruction manual  UE,K,U,M,H,X s GR0) s | SRt 0.047uF 2

. L e C54 C24-1447-71 | Electrolytic 470uF 25Wv
— B50-3166-00 | Instruction manual T .
. C55 C24-1210-71 | Electrolytic 100uF 16WV
— B50-3167-00 | Instruction manual (French) E,M,X c56 C24-1247-71 | Electrolytic 4704F 16NV
— B50-3168-00 | Instruction manual (Germany) E
— B50-3169-00 | Instruction manual (Dutch) E o
_ B50-3170-00 | Instruction manual (Swedish) E VR1, 21 R12-1049-08 | Trimming pot 1k (B)
5 2B E03-0029-08 | AC outlet E S1 $29-1128-08 | Rotary-Slide switch Fig. 102 &
5 2B E03-0032-08 | AC outlet K S2 S40-1028-08 | Pushbutton switch Fig. 103 %
5 2B E03-0033-08 | AC outlet M,UH S3 S40-1029-01 | Pushbutton switch Fig. 104 ¥
6 3B E20-0446-08 | Speaker terminal %
7 3A E20-0447-08 | Speaker terminal x3 # Q1 V30-0292-10]| IC TA7318P-1
— E30-0650-08 | Speaker cord ass'y M,ETUXH « Q2, 21 V30-0502-10| 1C UAA-180 2
- E30-0677-08 | Speaker cord ass'y K= ||as1 V03-2655-10 | Transistor ~ 2SC2655 (Y)
9 28  [E30-0651-08) Rawer cord £ D13 V11-2104-20 | Zener diode HZ7A-1 &
9 2B |E30-0658-08 Power cord R FL L D51,562 |V11-5101-50 | Diode 1SR35-100 (100V, 1A)
8 28 | EBD-UERO0R) Pawercard K D53 V11-2104-30 | Zener diode HZ16-1
9 2B E30-0660-08 | Power cord T
9 2B E30-0661-08 | Power cord X




RA-80 PARTS LIST

PARTS LIST

BE-S0PM-S0RA-60

Ref. No. Parts No. Description mF;(:I-(s Ref. No. Parts No. Description mRaSI-(s
TOTAL (RA-80) PCB ASS'Y (X14-1220-70, 2-70)

1 1A A01-0386-08| Cabinet 101 18 B30-0244-08 | Lamp (0.1A) %

2 2A A20-1683-08| Front panel B E

2 2A A20-1692-08| Front panel B K,M,U,X,H c1,2 C26-1747-47 | NP-electrolytic ~ 0.47uF 50WVv

2 2A A20-1693-08| Front panel B T C21,22 | C26-1747-47 | NP-electrolytic =~ 0.47uF 50Wv
c3,23 C71-1747-16 | Ceramic 470pF K

3 2A B07-0342-08 | Knob guide x6 c4,24 C26-1747-57 | NP-electrolytic ~ 4.7uF 50Wv

4 2A B11-0008-08 | Filter B C5,6 €52-1710-26 | Ceramic 0.001xF K

— B50-3165-00 | Instruction manual  UE,K,U,M,H,X C25, 26 C52-1710-26 | Ceramic 0.001uF K

— B50-3166-00 | Instruction manual T c41 C71-1747-16 | Ceramic 470pF J

— B50-3167-00 | Instruction manual (French) E,M,X c42 C24-1447-51 | Electrolytic 4.7uF 25WVv

— B50-3168-00 | Instruction manual (Germany) E c43 C24-1747-41 | Electrolytic 0.47uF 50WV

— B50-3169-00 | Instruction manual (Dutch) E c44 C24-1247-61 | Electrolytic 47uF 16WV

— B50-3170-00 | Instruction manual (Swedish) E Cc45 C24-1710-51 | Electrolytic 1uF 50WV
C46, 47 C47-1722-15| Polystyrene 220pF J

5 2B E03-0029-08| AC outlet E ca8 C46-1710-26 | Mylar 0.0014F K

5 2B E03-0032-08 | AC outlet K C49,50 | C24-1747-41| Electrolytic 0.47uF  BOWV

5 2B E03-0033-08 | AC outlet M,U.H C51 C46-1747-25 | Mylar 0.0047uF J

- E30-0652-08 | Audio cord M,T,UXH c52 C26-1747-47 | NP-electrolytic  0.47uF  5OWV

- E30-0669-08 | Audio cord K C53,54 | C46-1722-35| Mylar 0.022uF J

6 2B E30-0651-08 | Power cord E C556 C46-1710-35 Mylar 0_01#,: J

6 2B E30-0658-08 | Power cord M,U,H C56 C46-1710-26 My|ar 0_001“F K

6 2B E30-0659-08| Power cord K c57 C26-1710-57 | NP-electrolytic  1uF BOWV

6 2B E30-0660-08 | Power cord T c58 C24-1447-51 | Electrolytic 4.7uF 25WV

6 2B E30-0661-08 | Power cord X C59 C46-1722-35 | Mylar 0.022uF J
C60 C24-1710-51 | Electrolytic 1uF 50wV

- HO01-3182-08| Carton case E| = c61 C46-1710-35 | Mylar 0.01uF  J

— H01-3202-08| Carton case K.M,U,X,H w c62 C46-1768-35 | Mylar 0.068uF J
C63 C24-1447-51 | Electrolytic 4.7uF 25WVv

= H10-1554-08| Packing L C101~104| C53-1747-37 | Ceramic 0.047uF M

= H10-1555-08 | Packing R C105,106 | C24-6510-81 | Electrolytic 1000uF  35WV

- H20-0461-08 | Protection bag C107,108 | C24-1222-71 | Electrolytic 220uF 16WV
C109~111| C24-1247-71 | Electrolytic 470uF 16WV

7 3B J02-0110-08 | Foot x4

8 2B |J42-0088-08 | Bushing E,T 102 1B | E13-0428-08 | Phono jack (4P) x2

8 2B J42-0089-08 |Bushing U,M,H

8 2B |J42-0090-08 | Bushing K R101 R47-5410-15 | FL-proof RS 1009 J3D

8 2B |J42:0091-08 | Bushing X VR1 R01-2014-08 | Potentiometer ~ 5k (B) Fig. 103| #
VR2 R06-3021-08 | Potentiometer 20k$2 (B) Fig. 104| «

9 2A K23-0350-08 | Knob (rotary) x2

10 2A | K27-0162-08| Knob (push) x6 S1 $40-1027-08 | Pushbutton switch (POWER) *
S2~6 S42-5018-08 |5 keys pushbutton switch %

11 3A L01-2124-08 | Power transformer K

11 3A L01-2126-08 |Power transformer M,E, T,UXH Q1~3 V30-1020-26 | IC NJM4558D X
Q6~11 V03-0339-05 | Transistor 2SC536 (F)

12 2A | N29-0052-08|CS ring x2 % Q12 V01-1015-20 | Transistor 2SA1015 (GR) *
Q13,14 |V03-1815-10| Transistor 25C1815 (GR)

13 3A  |540-1026-08 |Slide switch M.,E,U,X,H Q15,16 |V03-2655-10 | Transistor 25C2655 (V) "
Q17,18 |Vv30-0501-10|IC CX-766 x

14 1B, 2B|X14-1222-70|PC board ass'y * Q101 V03-2120-00 | Transistor 25C2120 (Y)
Q102 V01-0950-00 | Transistor 2SA950 (Y) *
D41,42 |V11-2104-10 | Zener diode HZ3A-1 *
D43,44 |V11-9990-05 | Diode 1S188AM or

V11-0051-05 1N6O or %
V11-9725-05 1K60 *
D101~104|V11-5101-50 | Diode 1SR35-100 *
D105~107|V11-2104-30 | Zener diode HZ16-1 *
PARTS LIST 15



GE-80,PM-80,RR-80

A product of

TRIO-KENWOOD CORPORATION

6-17. 3chome. Aobadai. Meguro-ku. Tokyo 153. Japan

KENWOOD ELECTRONICS, INC.

1315 E. Watsoncenter Rd, Carson, California 90745, U.S A.
75 Seaview Drive, Secaucus, New Jersey 07094, U.S A
1098 North Tower Lane, Bensenville, llinois 60106, U.S.A
TRIO-KENWOOD ELECTRONICS, N.V.

Leuvensesteenweg 504 B-1930 Zaventem, Belgium
TRIO-KENWOOD ELECTRONICS GmbH

Rodolf-Braas-Str. 20, 6056 Heuseastamm, West Germany
TRIO-KENWOOD FRANCE S.A.

5, Boulevard Ney, 756018 Paris, France

TRIO-KENWOOD SVENSKA AB

Kemistvagen 10A, S-183 21 Taby, Sweden
TRIO-KENWOOD (AUSTRALIA) PTY. LTD.

30 Whiting St., Artarmon, N.S.W. 2064, Australia
KENWOOD & LEE ELECTRONICS, LTD.

Room 501, Wang Kee Building, 5th Floor, 34-37, Connaught Road, Central, Hong Kong

©1980-4 PRINTED IN JAPAN B51-0682-00(0)2,372




